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Instructions:
1. Figures to the right indicate full marks
2. Each section should be written in a separate ans

3. Be precise and to the point in your answer

SECTION-I
Q-1 Answer the following:
(a) Draw ARP package and explain Input and Ou e with algorithm.  [6]
(b)  Explain ICMP Error messages in brief. , [6]
OR

Q-1 Answer the following:
(a) Explain IP datagram in brief. [6]
(b) Explain ICMP Query Mess%e ‘ [6]

Q-2  Answer the following:
(a) What is Forwarding?

forwarding techniques.
(b)  What is Sub netting?

[6]
[5]
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Q-2 Answer the following;
1) Explaindiorwarding with classless Addressing. [6]

(b) [5]

Q-3
(a) mentation? Explain Fragmentation in Brief with an example.  [6]
(b) nization is granted the block 130.34.12.64/26. The organization [6]

subnets. Find subnet prefix length also find subnet address and the
addresses for each subnet
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(a)
(b)

Q-4
(a)
(b)
(a)
(b)

Q-5
(a)

(b)

(a)

(b)

SECTION-II
: 4
Answer the following:
Discuss link state routing protocol in brief. w
Explain process to process communication and connection oriented
service in TCP protocol.
OR
Answer the following:
Explain state transition diagram of TCP connection in brie 6]
Explain process to process communication and datagram tocol.  [6]
Answer the following:
Explain Three-Way Handshaking mechanism of cﬁon [6]
termination in detail.
What is IGMP? Explain types of IGMP mess4 dfformat of IGMP. [5]
OR
Answer the following:
Explain Four-Way Handshaking mec m of TEP connection (6]
termination in detail.
Explain Datagram, Encapsulati apSulation of UDP Protocol in 15]
brief. @
Answer the followin \
Explain the terms: [4]
1. Sequence number.
2. Acknowled urmnber.

3ARIET

4. IP Hfﬁﬁi
What is BGP? N use BGP protocol? Explain external and
internal BGP.

Explain -Nodgjand Three-Node loop instability.
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